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SESSION I
SECTION I – LANGUAGE COMPREHENSION (15 x 1 = 15 points)
Which of the following sentences best expresses the meaning in the given sentence?

1. Iodine-131 spreads after nuclear disasters and harms children, yet for unknown reasons it does not seem to affect adults.
A) All children are impacted by iodine-131, which covers a wide area after nuclear disasters, but fewer adults are affected.
B) Despite having bad effects on children, iodine-131, which spreads after nuclear disasters, apparently does not harm adults, but no one knows why.
C) The reasons why iodine-131 damages the health of kids but not adults are poorly understood, so its spread must be limited after nuclear accidents.
D) Settling over an extended area after nuclear accidents, iodine-131 not only has devastating effects on children but also impacts adults to some degree.

2. Some cancers are prevented by giving pills containing a non-radioactive type of iodine soon after exposure to radiation.
A) Some cancers resulting from being exposed to radiation no longer exist due to a pill made up of non-radioactive iodine.
B) Taking pills with a kind of iodine that is not radioactive right after exposure to radiation keeps some cancers from forming. 
C) People do not get some cancers when exposed to radiation even when given a pill with a non-radioactive kind of iodine within a short time.
D) If only pills that do not have a radioactive type of iodine and that decrease cancer rates could be given shortly after exposure to radiation takes place.

3. It is suggested that the radioactivity levels around Fukushima have dropped enough to have only a limited impact on animals in the wild.
A) Some people report that wild animals close to Fukushima have become resistant to high levels of radioactivity.
B) The falling level of radiation is likely to attract wild animals to the area by Fukushima once again, according to some.
C) The current lower levels of radioactivity near Fukushima are not thought to have a large effect on wild animals anymore. 
D) It is believed that the number of wild animals in the Fukushima area is so small that radioactivity levels have stopped being an important factor. 

4. Little greenhouse gas is produced at nuclear power plants, so one reason for climate change is that there are few nuclear power plants.
A) There used to be less climate change since there were more nuclear power plants which emitted little greenhouse gas.
B) Climate change will be slowed only when nuclear power plants that give out low amounts of greenhouse gas are set up. 
C) The low number of nuclear power plants is a factor contributing to climate change as these plants produce only a small amount of greenhouse gas. 
D) Because they give out almost no greenhouse gas, nuclear power plants are increasing in number, lowering the level of greenhouse gas and decreasing climate change.

5. At the beginning of World War II, Czechoslovakia surrendered to Germany, but according to many Czechs their country should have fought instead.
A) Many Czechs are sorry their country gave in to rather than fight against Germany in the early days of World War II.
B) It would be a mistake to say Czechoslovakia refused to fight Germany at the start of World War II, many Czechs say.
C) Most Czechs claim that fighting against the Germans in the first days of World War II would have destroyed their country. 
D) In general, Czechs think it would be better for their country to fight against Germany because of what happened when World War II began.
6. In the area now known as the Czech Republic, the current Jewish population is only a small fraction of the Jewish population that lived there before World War II.
A) In the place now named the Czech Republic, the dramatic drop in the Jewish population took place prior to World War II.
B) The shocking fall in the Jewish population before World War II is the reason why only a small number of people live in the Czech Republic today.
C) Compared to the number of Jews living there before World War II, their number in what is now called the Czech Republic is much smaller.
D) In what is now the Czech Republic, there was a significant decrease in the Jewish population during and after World War II, but now their number is slowly growing. 

7. Between 1941 and 1944, consulate worker Necdet Kent gave documents of citizenship to many Turkish Jews in France who did not have proper identity papers, saving them from the Nazis.
A) Due to the Nazi’s growing power, a large number of Jews from Turkey that lived in France were protected from Necdet Kent, a consulate worker, between 1941 and 1944.
B) Many of the Turkish Jews living in France had failed to obtain proper identification and were in danger until consulate worker Necdet Kent led battles against the Nazis from 1941 to 1944.
C) Beginning in 1941, Necdet Kent, a consulate worker, spent three years enabling many Turkish Jews who were in France to get the necessary documents regarding citizenship so that they could defend the Nazis.
D) From 1941 to 1944, consulate officer Necdet Kent kept the Nazis from capturing a lot of Jews living in France who were from Turkey and who did not have proper ID by providing these Jews with citizenship papers.

8. After the Fukushima nuclear disaster in Japan, 72-year-old Yasuteru Yamada organized a volunteer group of elderly men to do clean-up work at the failed nuclear plant so that young men would not need to.
A) 72-year-old Yasuteru Yamada was opposed to having young men clean up after the Fukushima disaster in Japan, so he devised a plan which involved forcing elderly men to work there.
B) To eliminate the need for young men to work at the Fukushima nuclear plant in Japan after the explosion took place, 72-year-old Yasuteru Yamada got some elderly men to take part in clean-up work.
C) Young men had to participate in the clean up after the Fukushima nuclear disaster in Japan until 72-year-old Yasuteru Yamada and other elderly men protested against making these young men work in this way.
D) The clean-up work after the Fukushima nuclear disaster in Japan must be done by young men until the volunteer group of older men organized by Yasuteru Yamada becomes large enough to fully take over these duties.

9. The gender difference in life expectancy, which favors females, is larger in developed countries than in less developed ones.
A) The more advanced a country is, the longer a woman who resides there can expect to live.
B) Women have a longer life expectancy than men, and this difference is even greater in developed countries.
C) Less developed countries have shorter life expectancies, and women from these places have especially short lives.
D) Women live longer than men, and women in both more and less developed countries are making significant gains in life expectancy.

10. Over 80% of diseases used to be associated with unhygienic practices; thus, it has been possible to reduce their number by simple alterations in behavior.
A) Innovations in medical procedures are the main reason that more than 80% of illnesses connected to a lack of cleanliness have been eliminated.
B) Poor cleaning practices caused over 80% of sicknesses; nevertheless, it has not been an easy task to change the behaviors that people were used to.
C) Basic changes in hygiene procedures have been able to decrease the cases of many diseases because over 80% of them were related to unsterile behaviors.
D) The diseases caused by poor hygienic practices may be overcome by better hygiene, and these healthier techniques are being used to eliminate 80% of diseases. 
11. The role of bacteria in causing many diseases was identified in the 1880s, yet the first effective treatments were not developed until the 1930s.
A) Even in the 1930s, innovative therapies based on research about bacteria that had been done in the 1880s failed to come out.  
B) The 1880s was when doctors first tried new treatments for diseases caused by bacteria; however, they did not have any success for 50 years.
C) The first success in treating a disease related to bacteria took place in the 1930s, but doctors could have developed such procedures in the 1880s.  
D) It took 50 years, from the 1880s to the 1930s, to advance from discovering that bacteria brought about many diseases to actually treating such diseases successfully.

12. As life spans increase, diseases associated with aging go up, so we are going to need innovation to treat them.
A) Creative ways to cure diseases related to being elderly will be needed since living longer leads to more illnesses. 
B) As we get older, we suffer from more diseases, yet we also come up with innovative methods that help us live longer.
C) The need for innovation in medicine has never been greater because the growing number of diseases is threatening life expectancy.
D) The latest treatments have significantly increased the number of years people live, and we are in need of more treatments like that. 

13. Money is something we all use every day but rarely think about, except when we don't have enough of it.
A) Other than the times when we have too little money, we hardly ever think about this item we use daily.
B) Not having enough money, we try not to focus on it very much, but we still have to spend it each day.
C) A lack of money often makes us consider the banknotes we use, especially since we must use them daily.
D) If we exclude the times that we have a lack of money, we rarely try to solve our financial struggles. 

14. Paper banknotes reduced transporting precious metals such as gold and silver, which was a risky operation.
A) Paper currency got rid of shipping valuable metals like gold and silver, which were high risk investments.
B) Moving gold, silver and other precious metals carried risk, and transporting it declined when paper currency came into use. 
C) Valuable goods like gold and silver are hard to move while paper banknotes are easier to transfer to another location.
D) Unlike metals like gold and silver that are worth a lot of money, banknotes made of paper have less value and are not as risky to move. 

15. In the US, some communities produce a local currency, which encourages more spending at businesses within the community.
A) A local currency promotes shopping locally, and banknotes for this purpose are usually made in the US.
B) In an attempt to enable local businesses to grow, some areas in the US spend money at shops by their homes.
C) To give a boost to companies in an area, various communities in the US make money that can only be spent locally.
D) In the US, it has been found that distributing banknotes that can only be used in one community helps businesses there. 


SECTION II – READING COMPREHENSION (30 x 1.5 = 45 points)
Read each text and choose the best alternative that answers each question.

Text 1	      Meet the Nuclear Cattle of Fukushima
[image: Nearly 3,000 cows died following the nuclear accident in Fukushima&#39;s Namie town.]1	Tamotsu Matsubara, a Japanese filmmaker, discovered a strange story in 2012. He heard of a group of farmers in Fukushima's nuclear exclusion zone, where agriculture was completely forbidden, fighting to keep their radiation-affected cows alive even though they brought them no profit. "The farmers think of these cows as family, so they don't want to kill them just because they're not worth anything," says Matsubara. He went on to make a film called 'Nuclear Cattle' (Hibaku Ushi) about the cattle, each of which costs around 2,000 dollars a year to care for. The farmers featured in Matsubara's film are those who refused to obey the Japanese government's initial orders to slaughter all cows in the exclusion zone. "By disobeying the government and keeping these cows alive, these farmers are serving a greater purpose for humanity and for science," explained Matsubara. 

2	On March 11, 2011, a 15-meter tsunami triggered by an 8.9-magnitude earthquake disabled the Daiichi nuclear power plant in Fukushima, causing a nuclear accident. Residents within a 20 km radius of the facility were forced to evacuate their homes and leave their possessions behind. Before leaving, some farmers released their cows so that they could roam free and survive in the nuclear fallout-affected area. 1,400, however, died from starvation, while the government killed 1,500 more. Nevertheless, some of the cattle in the exclusion zone survived, and since 2012, Matsubara has documented the relationship between six farmers and their surviving cows.
	
3	The farmers, who return two or three times a week to their former farms, initially kept their cows alive out of love. However, since 2013, Keiji Okada, an animal science expert at Iwate University, has been carrying out tests on them. Okada established the Society for Animal Refuge, a non-profit organization with researchers from Iwate and Tokyo Universities. He says the project will provide much more information about the effects of radiation on large animals. "Large mammals are different than bugs and small birds because mammal genes can repair themselves more easily, so no one knows exactly what impact the radiation has," Okada said. "We need to know how radiation exposure affects large mammals." So far, the cows living within the exclusion zone do not have leukemia or cancer, two diseases associated with high levels of radiation exposure. Some, however, have a rash – a number of white spots – on their hides which farmers suspect are the side-effects of this menace. Okada believes the study will provide much needed knowledge in the event of another disaster. "We need to know what levels of radiation are safe for large mammals so that killing livestock can be kept to a minimum," added Okada.

4	While some farmers have cut their ties with farming and begun to rebuild their lives by starting new businesses in decontaminated areas in Fukushima, others are continuing the campaign to keep the cows alive within the exclusion zone. "These cows are the witnesses of the nuclear accident, so we need to help them survive," says Masami Yoshikawa in Nuclear Cattle. He is from Namie, a town in the heart of the exclusion zone. Unlike the farmers who have quit farming, he and other farmers have continued their connection with farming because they believe the cows of Fukushima are important. "They're the cows of hope," he says.


16. The word slaughter in paragraph 1 is closest in meaning to ----.
A) capture
B) kill
C) keep track of
D) keep safe

17. From paragraph 1, it can be understood that ----.
A) in 2012 no farming of any type was permitted in the exclusion zone
B) the cows from Fukushima still had some financial value despite being affected by radiation
C) the Japanese government opposed the production of the film 'Nuclear Cattle'
D) the film 'Nuclear Cattle' helped reduce the financial losses of the farmers of Fukushima 

18. The purpose of paragraph 2 is to ----.
A) show the great destruction to homes around Fukushima after the 2011 earthquake
B) prove that the Japanese government was unprepared for a large earthquake
C) explain why the farmers of Fukushima were angry with the Japanese government
D) give information about the history of the cows found in the exclusion zone

19. The phrase this menace in paragraph 3 refers to ----.
A) a rash
B) radiation exposure
C) leukemia or cancer
D) the exclusion zone

20. In paragraph 3, we understand that Keiji Okada ----.
A) had been working with the farmers in the exclusion zone before he began his research project
B) is doing tests on all types of animals that were affected by the Fukushima nuclear disaster
C) thinks researching effects of radiation is critical but is unsure if this will help in the case of another nuclear disaster 
D) believes information gathered about the effects of radiation on large animals is insufficient

21. In paragraph 4, the writer contrasts ----.
A) farmers who have not lost their connection with farming and those who have 
B) the cows that survived the disaster and those that were killed
C) people who have been affected by a nuclear accident and people who have not
D) life for farmers before the nuclear disaster and life for them after it
 
22. The text discusses all of the following except ----.
A) the motivation for the ‘Nuclear Cattle’ film
B) the response to the ‘Nuclear Cattle’ film
C) reasons for keeping the cows of Fukushima alive
D) an unplanned opportunity for research




Text 2						A Remarkable Couple
1	They were a couple in their 30s, a pastor of a church and a social worker, with a 2-year-old daughter and a 7-year-old son. In January 1939, Waitstill Sharp and his wife, Martha, could have turned down the request to leave their children and home in the US and move to Prague to aid people in a country about to be taken over by the Nazis. Seventeen others had declined the mission, but the Sharps said yes. Their willingness to fight against the Nazis set an example of humanitarian aid for America, which had been eschewing the war and not even opening its doors to refugees. 

[image: https://img.washingtonpost.com/rf/image_742w/2010-2019/WashingtonPost/2016/09/09/Production/Daily/Style/Images/THESHARPS_11473461230.jpg?uuid=WvZLIHbfEeaXgUnlkXgXVA]2	Working with various aid networks, the Sharps rescued about 125 people — Jews, political dissidents and others whose lives were under threat. They also got food and other assistance to hundreds more in urgent need. Sometimes the couple took major risks, such as helping targeted individuals get across borders. For instance, one night in March 1939, just after the German occupation of Prague, Martha Sharp aided a man she called “Mr. X” on his way to the British Embassy with the Gestapo close behind. In September 1940, Waitstill Sharp helped the anti-Nazi author Lion Feuchtwanger on a secret journey from Marseille to Lisbon. Sharp and the novelist jumped off one train to escape from authorities, and Feuchtwanger crossed into Spain on foot via mountain paths. The Sharps also obtained visas and departure tickets, including transatlantic passage for 27 children, when many people said it could not be done. They often worked apart, traveling solo in an increasingly dangerous Europe where two Americans together attracted unwanted attention. For their efforts, the Sharps are two of five Americans who received an honor from Yad Vashem, the Holocaust remembrance center in Israel, as “Righteous Among the Nations”. The title is for non-Jews who risked their lives to save Jews from the Nazis.

3	However, the couple’s story only came out due to the persistent curiosity of the Sharps’ grandson, John Joukowsky. After the war, the Sharps divorced in 1954. Afterward, they rarely spoke about their work in Europe. Both Sharps were by nature modest, never praising themselves for their heroic acts, and they felt great sorrow for the many they did not save, including eight Jews who worked in their Prague office but later died in concentration camps. Joukowsky got the first details of their story in 1976 when he was 14. That year, a teacher gave him this assignment: Interview someone who had shown moral courage. He asked his mom for ideas. She said: ‘Why don’t you talk to your grandparents? They did some cool things during World War II,” recalls Joukowsky. In addition to leading to the writing of a history paper that got an “A”, the conversations he had with them created a great desire to learn more.

4	It took many years to accomplish this. Waitstill died in 1984, and Martha in 1999. After his grandmother’s death, Joukowsky discovered a box of documents hidden in a corner of her basement — letters, photos, hotel bills, ticket stubs and more. These previously unknown documents included hundreds of names of people the Sharps had helped. Using these sources, Joukowsky created a research team, including private detectives, and tracked down people who knew something of their lives. Interviews with witnesses convinced Joukowsky that their story could make a great film. Years of work led to the September 2016 release of the film Defying the Nazis: The Sharps’ War. A great, true story finally received the publicity it deserved.


23. The word eschewing in paragraph 1 is closest in meaning to ----.
A) fighting
B) avoiding
C) debating
D) following

24. Paragraph 2 mainly discusses ----.
A) how the Sharps’ brave actions affected the war
B) why the Sharps took such great risks
C) one of the most exciting adventures the Sharps had
D) the Sharps’ heroic actions and an award they received

25. In paragraph 2, the reader can understand all of the following EXCEPT ----.
A) Martha Sharp was unable to save “Mr. X” despite her brave efforts
B) Feuchtwanger would have been caught if he had not made a daring escape with Waitstill Sharp
C) as the war progressed, it was safer for the Sharps to work separately
D) neither Waitsill or Martha Sharp had a Jewish background

26. According to paragraph 3, an important factor in finally making the Sharps’ story known was ----.
A) the couple’s divorce
B) the couple’s character
C) a sad story from the Sharps’ time in Prague
D) a suggestion from the Sharps’ daughter

27. From the information in paragraph 3, the reader can understand that the Sharps ----.
A) had a number of regrets from their time in Europe despite saving many people
B) tried to publish their story but could not find anyone interested in it
C) enjoyed telling friends about their incredible experiences during World War II
D) were not willing to give their grandson all the information he needed to do his school assignment

28. The phrase accomplish this in paragraph 4 refers to ----.
A) get an “A”
B) write a history paper
C) learn more
D) have conversations with his grandmother

29. According to paragraph 4, the film Defying the Nazis: The Sharps’ War ----.
A) was made even though the Sharps were opposed to it 
B) was possible because of an unexpected discovery
C) had to be mostly made up because very few people remembered exactly what the Sharps had done
D) was delayed because no film-making company was interested in it at first

30. Which of the following is mentioned in the text?
A) The reaction of the Sharps’ children when they went to Europe
B) The estimated number of people the Sharps were able to save
C) How the Holocaust remembrance center in Israel learned of the Sharp’s story
D) Where Joukowsky traveled when he was learning his grandparents’ story


Text 3			Humans Reaching Their Lifespan Limit
[image: Japan has the longest-living population in the world, with the average 60-year-old going on to live until age 86. Experts say this is due to good diets, active lifestyles and supportive family structure. ]1	Human lifespan can only be extended to a certain length, and we're reaching the limit, say a group of researchers. The research was led by geneticist Jan Vijg at the Albert Einstein College of Medicine in New York. She and her team analyzed aging trends in the United States, France and Japan. They claim that despite life expectancy being dramatically higher than it was 100 years ago, it is extremely unlikely it will continue to rise much higher than what it is right now. They also say the probability of any individual reaching 125 years is incredibly low. 

2	Vijg says, "It’s quite reasonable to expect more people to live to 100." On the other hand, the data her group collected strongly suggests the 20th century year-to-year rises in expected life span for people born in a specific birth year ended in the early 1990s, and it has not increased significantly in over 20 years. Regarding extending lifespan up to and beyond 125 years, she says, "Although there is no one scientific reason why such efforts cannot be successful, the possibility is extremely low due to a myriad of genetic factors. When you consider all the barriers that need to be overcome, you realize how difficult it is to change the lifespan of a specific species," she says.

[image: Jeanne Calment, the world&#39;s oldest woman, according to the Guinness Book of World Records,  celebrating her 119th birthday on February 12, 1994 in France. She died at age 122.]3	Currently, the oldest documented person to ever live was Jeanne Calment, who died at 122 in 1997.  Very few people  come within 12 years of this record. "A huge biological time bomb doesn’t just go off after 100," Vijg says, yet she does not expect a significant change in Calment’s record. On the other hand, she thinks more people born today will live to be 100. "Someone who's 100 years old today was born in the 1910s, so they had to survive a great deal of disease, a world war, poor quality food, plus many other negative factors," Vijg states. She believes much improved modern living conditions will positively affect lifespan, but she does not know how big a difference they will make. Modern conditions are so different from a century ago that they make it a challenge to project the lifespan of babies born today. But she adds, “Although we may not be able to predict the exact lifespan for these babies, our study clearly shows the upper limit to which they can expect to live.”

4	Director of the UK-based Biogerontology Research Foundation Alex Zhavoronkov agreed Vijg’s report is "scientifically accurate," but he also claims, "There are many reasons to believe that with more research into the biology of aging, we can live substantially longer." Conversely, despite the improvements in living conditions mentioned in Vijg’s study, Zhavoronkov is concerned about children growing up now. "Obesity is a huge tragedy," he says. "Kids are growing up very unhealthily, so the prospects for their future can't be good." Despite being somewhat more optimistic, Zhavoronkov admits there's definitely a limit to how long humans can live. "It's not biologically feasible to live to 1,000 years. There are constraints on how fast we run and how far we can see. Similarly, bodies have limits about how long they can survive," he says.


31. According to paragraph 1, Vijg and her research team ----.
A) believe more research is needed to learn how long human lifespan can be extended
B) do not accept that lifespan has risen significantly in the last 100 years
C) think humans will not be able to live much longer than they do today
D) believe most humans have the potential to live to 125 years old
  
32. According to paragraph 2, which of the following statements about lifespan would Vijg agree with?
A) Reaching 100 years old is realistic for many people, but getting to 125 is not.
B) Humans can increase lifespan if they continue to expand the research done throughout the 20th century. 
C) The scientific community should have worked harder to increase lifespan over the last 20 years.
D) A healthier lifestyle is the key to extending lifespan beyond 125 years.

33. The word project in paragraph 3 could best be replaced by ----.
A) resemble
B) improve
C) forecast
D) disturb

34. Why does Vijg mention the conditions in the 1910s in paragraph 3?
A) To show why Jeanne Calment lived to a record age 
B) To prove there is no such thing as a “biological time bomb”
C) To explain why many people from that period lived to be 100
D) To contrast those conditions to the better conditions of today

35. The phrase Despite being somewhat more optimistic in paragraph 4 refers to being more optimistic about ----.
A) overcoming the effects of obesity
B) children growing up now
C) living longer
D) doing more research about the biology of aging

36. According to paragraph 4, Alex Zhavoronkov believes ----.
A) there are a number of errors in Vijg’s study, so he disagrees with her conclusions
B) childhood obesity is such a serious problem that it will affect lifespan
C) while we may not be able to live to a 1000, we can increase our abilities to run faster and to see further
D) though not possible today, living to 1000 could be possible a few generations later

37. Which of the following is TRUE according to the text?
A) Vijg’s study looked at how lifespan was changing in four different countries.
B) Vijg believes a large number of genetic factors prevent people from living past 125.
C) Although few people live until 120, a much larger number of people make it till 110.
D) Zhavoronkov believes further research will confirm that 125 is the upper limit for lifespan. 



Text 4 						The Future Is Plastic
1	As countries that agreed to the Paris Agreement on climate change strive to become more sustainable, most of them are now considering the environmental impact of their banknotes as well as their security. Before the modern era of paper banknotes, money had been made from a variety of materials, from leather in China during the Han Dynasty to shells and precious metals. The latest, fast-growing trend is plastic. As in times past, this material reflects the available technologies and resources of the times.

2	For centuries, people in China used heavy metal coins tied together through a center hole to conduct transactions. This worked well until China’s economy grew. Heftier business deals brought about a need for a more practical currency, and in the 7th century the Chinese moved to easier-to-carry paper currency. In the 13th century Marco Polo reported back to Europe about the use of paper rather than metal coins, but Europe’s earliest paper banknotes weren’t issued until 1661. However, once Europe adopted paper money, many countries followed its lead. Paper became the currency of choice around the world, remaining so for centuries. However, with recent technological developments, plastic film, or polymer, notes offer additional security features in addition to reduced environmental impact. Polymer banknotes were first issued in 1988 by Australia, which now uses polymer exclusively. Polymer is currently in use in over 20 countries as diverse as Australia, Canada, Fiji, New Zealand, Romania, and Vietnam. 

[image: Canadian polymer bills: Canada released the $100 note in November 2011, the $50 in March 2012, the $20 in November 2012, and the $10 and $5 bills in November 2013.]3	The Bank of Canada began its move to polymer banknotes in 2011 after assessing the environmental impacts of producing paper versus plastic bills. The study examined each stage of production, from growing the cotton for banknote paper to producing raw material for polymer notes. It found that polymer completely outperformed paper. Overall, polymer leads to 32% less global warming and a 30% reduction in energy usage compared with paper. Additionally, polymer notes last more than twice as long as paper ones. This means fewer polymer notes have to be manufactured and distributed. Polymer notes also weigh less than paper ones despite their similar size, so their transportation and distribution affect the environment less. Finally, at the end of their life, paper bills need to be shredded into small pieces and put in landfills, where they take decades to decompose. On the other hand, polymer notes can be shredded, recycled, and then used to make everyday plastic items.

4	The Bank of England spent three years studying the potential effect of a switch from paper notes and, like the bank of Canada, resolved to use polymer ones. A polymer £5 note featuring Sir Winston Churchill was launched in September 2016, a £10 Jane Austen note will come out in late 2017, and a £20 note by 2020. Bank of England Governor Mark Carney recently said, “The durability of polymer notes is greater, they are more secure from counterfeiting, and they can be produced at a lower cost to the environment and distributed at a lower cost to the taxpayer.”

5	Ordinary users have had mixed reactions to the bills’ plasticky feel. Zoë Martin, from Toronto, Canada, says, “They stick to each other because of static cling, they don’t fold up nicely like paper bills when they’re new, and they’re slippery so they slide out of your pocket.” But Michael Brienza, a Toronto teacher, says, “I prefer them; they’re so much cleaner.” And Peter Cecil Sinnott, a data science graduate of Montreal’s McGill University, says, “The fact that they’re waterproof means getting them wet isn’t going to cost you. True story: my sister found one of the new Canadian $100 bills while snorkeling in the tropics. Who knows how long it was sitting on that reef?” To paraphrase Mr. McGuire’s advice to Benjamin in the 1967 movie The Graduate, whether people like it or not, “The future is plastic.” 

38. From paragraph 1, the reader understands that ----.
A) countries should not have signed the Paris Agreement
B) paper may lose its place as the most common material for currency
C) leather did not work well as a currency for the Chinese
D) most societies have not had enough technology or resources to produce a currency

39. The word heftier in paragraph 2 is closest in meaning to ----.
A) less honest
B) less complex
C) more flexible
D) [bookmark: _GoBack]much bigger

40. Regarding the use of bank notes, paragraph 2 states that Europe ----.
A) quickly adopted the new type of note that had been invented in China
B) played a key role in paper notes becoming the dominant currency
C) has been slow to use polymer notes despite their rising popularity
D) is the leader in the development and use of polymer notes

41. The main idea of paragraph 3 is that the Bank of Canada ----.
A) concluded that using polymer notes had many economic advantages
B) decided to use polymer notes because they would not wear out quickly
C) found many environmental reasons to use polymer notes
D) believes appearance and durability are the main advantages of polymer notes 
 
42. According to paragraph 3, which of the following statements about polymer notes is TRUE?
A) Producing material for polymer notes has less negative environmental impact than growing cotton for paper notes.
B) It takes twice as long to produce a polymer note compared to a traditional paper bank note.
C) The new polymer notes are easier to transport because they are smaller in size than a traditional paper bill.
D) Although they are often thrown away when they get old, both paper and polymer bills can easily be recycled.   

43. The word resolved in paragraph 4 could best be replaced by ----.
A) refused
B) researched
C) questioned
D) decided

44. Which factor related to polymer bills is mentioned in paragraph 4 but not mentioned in paragraph 3?
A) The length of time they can be used
B) Their security
C) Their effect on nature
D) The cost of transporting them

45. In paragraph 5 one of the things you can understand about polymer bills is that ----.
A) you are more likely to lose one
B) they are less likely to stick together than paper ones
C) they can survive under water but only for a limited time
D) they will probably be replaced by a new type of paper bill eventually
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